0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~li
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
7RPDQ RQD
D720$1 JUDIND %! +yQDS eDlill &VRSRUI eW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
+DQI\D VRU s
+8 7RUGDV 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
18(
dplpY 1$( €éW]IHVHQ
RV JiU DNI pUt
—XIDIpNHV] § PRIV
6101
+v0ODS
+8) ICS
I
GIHPPNHV pUpNHIpY 15 6Dl IXIDIpN
s 6Dl 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
%( 6Dl C[IUD -XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_ULJHIpV
BIiIXV]
+DYLIHIHVIIP PO\
YRIJDRP , +8)
$IiQIV] .[IG|S  6]HIJEGE (J\VpJ  7ISXV  7DWD  7DUDP TV NiV —XIDIpN
YRIJDRP ,, +8)
$IHQIV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
&ViS ZiV]lyQp
6=,1(* /E6=/T1e 3 =gz = *5% = (
&VIQFVL eYD
0$*<$526, -T=6() 3 =gz = *5% = (
0$*<$526, -T=6() 3 s *55 = (
0$*<$526, -T=6 () 3 =gz *5% = (
0$*<$526, -T=6() 3 s *55 = (
&JXSSRQ VIViQ
3 - *5% = (
6=*(79E5, 3e7(5 3 oz )* *5% = (
-RIRVD (WY1 - i
.2/26% (59,1 3 xmo o= *5% = (
-RIRVD +HQUHI
_2/26% +(15,(77$ 25 wm- o= *5% = (
6202*<, OE5,$ 3 gz )=x *55 = (
SDGLFV MIYiQ $C  *$:z * *5% = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

7RPDQ ,IRQD



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN

-RIRViQp +RUYill

.2/26E1le +259E7+ e9% 3 xmoox *5% 2 (
=VRIQDL 7DPiV $C  *$:z > *5% 2 (
SDGLFV VIYiQQp $C  *$z * *5% 2 (
3DSS eYD

"596=/(5 .E52/< 3 *To oy *5% 2 (
7Pl 1yUD

0$-/E7+ ,05( 3 *To oy *5% 2 (
0$-/E7+ ,05( 3 *$z )% *5% 2 (

gVVIHVEIHI pUipN

YRWDRP, (85

$QV] .IWG|S  6]HUIEGE (I\VpJ  7ISXV  7DWID  7DUDP %]l -XIDIpN

YRUIDRP ,, (85

$IHQV] .IWIGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP %Il -XIDIpN

GVVIHVEIHI pUipN

$] HIV] i PRIi VD) NDSFVRIDIRV UHNIDP i FLyNDI NpUi N t1iVEDQ D] HIV] i PRIV Np KH]YpIHIpi]0 Vi PtRI KpiHQ EH) ( D] O,& WRGEEDQ IHDGQL

%66 %URNHU 6HUYLFH 6\VIHP
THIHVHIP pQ\HIV] i PRO1V 7RPDQ ,IRQD



